28.9  Since the electrical force supplies the centripetal acceleration,
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29.19 Recall that the activity of a radioactive sample is directly proportional to the number of
radioactive nuclei present, and hence, to the mass of the radioactive material present.
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Thus, = = - when t=2.0h
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From R=R,e ", weobtain 025=¢ """ and A1=- n(0.25) =0.693 h™
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Then, the half-lifeis T, = In2 _ .1112 —=|1.0h
A 0.693 h




29.22 Using R=R,e ™, with RfR, =0.125, gives At=-In(R/R,)

or t=— ln(R"’RD) — —TWFH(R/&)}: —(5 730 Vl_){ln(ﬂ.l%) '=11.72x10%* vr
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